Attachnient - 0-105 . S
Gulf 011 Jorporation - Grahai Stzte "F" o, 7-0, 34=19-36

RiowOuy OF ST LalLlal il

3-14=55 = washed perforitioas in 7" casiag fro. 5515-56501 with 500 gellous
mid acid. Reversed acid out,

3=16-55 -~ Treated perforations ia 7" cusiung from 5615=5650' witii 2000 galloas
15% N acid,

3-22-55 - Washed perfor:tions in 7" cusing fro.. 5694=5722' with 250 gallous
mid acid. Heversed acid out.

3-22-55 - Treated perforatious 1a 7% cesiag frou 5094=57221 with 2000 gulloas
15% N acid,

3-27~55 = Treated perfor:tioas in 7" cusiag fra:z 5094-57221 with 3000 gullons
acid frac, 2/3# sand per zallon.

4=15=55 - Treated perfor:tions ian 7" cusinz fro.. 5556-5482' with 5000 gelloas
Vi-so (leuse crude with gel, frac, lj sanu per gellon.

4=24=55 = Treated perforcticas ia 7" cusing frow 5:50-52801 with 2000 gellons
155 Hu acide

4=27=55 -~ Treusted perfor.tions in 7" casing fro. 5145-5.:80% with 500 gallons
Jel Jet 99 and 4000 gallons 1l5% N acid.

5=23=55 = Treated perforations in 7" casing frow 5145-5175' with 5000 gullons
acid frac with ATO Jel cgent and 1y sand per gsllon,

vinBNT SQUEKZE JOBS

3-18-55 ~ Set Howeco Dil cauent retainer at 5500', Siueese cemented turu
perforations in 7" casing from 5650~5615' witn 250 sacks ceuent. TP 25007,
L=9=55 - Set Biser cement retuiner on wire line at 55688' - Ran 2=3/€" tubing,
Squeeze cewented thru perforations in 7" casing frou 56Q4-5722" with 93 szcks
regular cement. TP 3000;{. 35ac.c washed 7 szcks ce.ent. :

5=14=55 - Set Bzker cast iron ceuent retainer on wire line at 5182'. Han
2-3/8" tubing. Squeezed cemented thru perforations in 7" casing from 5190~
5225' and 5250-5280' with 233 sacks regular ceuent in 3 stuges. haximun

TP 1800#. Reversed out 31 sacis cement.

DEVIATIONS - TOUICU SURVLYS

1/h - 200! 1/k = 3415 1-3/4 = 4950
1/2 = 640 1 - 3550 1-1/2 - 5010
3/h = 950 3/4 = 3570 2-1/2 = §OTO
1 - 1220 1/2 - 3700 2=l/2 = 5100
3/h - 1940 /4 ~ 371é 1-1/2 - 5125
1-1/i, = 2023 3/h - Luuu 2=1/lL - 5160
2 - 2270 1 AR 2=1/2 = 5215
2-1/2 - 2310 3/4 - 4180 2-1/k = 5275
2 - 2400 3/h - 4365 3 - 5375
1 - 2515 1 - LLL0 3 - 5410
2 - 2555 1 = 4530 3 - 5470
1/2 - 2640 1-1/4 = 4500 3-i/l4 = 5500
1/k = 2770 1-1/4 = 4715 3 - 5560
3/t = 2940 2 - 4750 3 = 550
1/l - 3240 2=L/h = 454U 3-1/4 - 5610
1/2 = 3310 2 - 4900

DRiLL STon T.8T

#0e 1, 3-10=55 = 2 hour Jonaston drill steu tost frow 560U=5726', 5/ surfuc.
choke, 5/92" choke ot 5576, Pazxers ab 5594 wad 5000, Bowbs at 5723" wad
5725', Tool opened l:054., i.s to surface in 23 wminutes, ISiii., #No fluid

to surfacs. Rocovered 1.U' siitly oil s jus cut mud, 3 oil, no wster,

HP 2500#. FP 25=35#. 15 udnute ZHP 175, .



